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1. PQIBC DL E, x 0 ff &K s i,

Find the value of x when PQ and BC are parallel.
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b 3 =4 x
b Xx = 3 X4
b x = /2
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Find the size x of BD when AD is the bisector of ZA.

BD : DC = AB: AC

2 x = 48
x = 4
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70 x = 48 —6 x
16 x = 4§
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1. PQIBC DL E, x 0 ff &K s i,

Find the value of x when PQ and BC are parallel.
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Find the size x of BD when AD is the bisector of ZA.
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A BD:DC=AB: AC

BD : DC = AB: AC

/2 x = 726 —9 x
2] x = 126

x::6
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Find the value of x when PQ and BC are parallel.
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AP : PQ = AB: BC
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3 6 = 2 X
3 Xx = b X2
3 x = 72
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b 2 =9 X
b Xx =2 X9
b x = 7§
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Find the size x of BD when AD is the bisector of ZA.
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Find the value of x when PQ and BC are parallel. Find the value of x when PQ and BC are parallel.
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AP : PB = AQ : QC
720 x =8 i 4 x 5 =4 1 4
§ Xx = 72 x4 4 Xx = 5 X§
& x = 4¢f 4 x = 40
x =_6_ x = 70
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AP: PQ = AB: BC
72 x =78 72 6 4= (6+x) - 6
1§ Xx = /2 X2 4 x(btx)= 6 x5b
1§ x = 744 b+x = 9
x =4 x=3
poxa = b xx = 9 x72
bx =90 6x = 708
r=6 x =78
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Prove the theorem for the ratio of angle bisectors and line segments.

2L 5t ~h

z A
AABC 0 /A D /58 L3 BC DDA % D k
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AD/CE XY /BAD= (M f)
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AACE 1 AC = o IRy
AD/CEXv | - AE'= BD : DC
AE = TH 55 AB: AC = BD : DC
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Find the size x of BD when AD is the bisector of ZA.
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Prove the theorem for the ratio of the bisector of an exterior angle
to a line segment.
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AB//CE LY ZFAE = ()
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AACE X AC= ol TEw
AB/CE v | - CE = BD : DC
CE= #5715 AB: AC = BD : DC
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Find the size x of BD when AD is the bisector of exterior of ZA.

%J:?%LE A AB: AC = BD : DC
:(/0+x) x
5 x(70+ x)
30+3 x
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Find the size x of BD when AD is the bisector of ZA.
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Find the size x of BD when AD is the bisector of ZA.

| A AB: AC = BD : DC
b:70=x: (5~ x)
o /0 xx=b x (¢ — x)
10 x = 4§ —6 x
76 x = 4
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